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OPTION-A
. ( Macroeconomics)
Paper :‘COM—HG—QO 16

1. Answer the followmg questions as directed :
- 1x10=10

(a). What is comparative s_tatic' econorpié '
* analysis? ‘

.va‘zamﬁa%ﬁmctﬁv

(b) Define effective demand.
T sifts el
(c) - What is meant by aggregate As'upply ?
SR Rl 3 W ? |
(d) Name the au;chbr of the' book, The

General Theory of Employment Interest
and Money.

 The General Theory of Employmentv

Interest - and Money A%< (.FRIW q™
ot
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" (e) What is the shape of long—run aggregate
supply curve ? '

WWNWWWW-
xe |

() What does a vertical IS curve mean?

qufe TeTR IS @R & w2

(g) State the condition of equilibrium in
~ the goods market.

WWWW’WWr

(h) What is the most common method of
measurmg inflation ?

| Wﬁmmmmqwﬁm%v ;

() The value of money and the prlce level
are related inversely/directly.
(Choose thé correct answer)

TR T W FEER e 7> RefSrosqt/
asgq (aaww@@%@w

() What is meant by margmal propensity
to consume ?

mf@asmﬂaaﬁqﬁmﬁsq@m
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2. Answer the following questions: - "2x5=10 -

| (a) Why does the aggregate demand curve
slope downward ?

| ANEE sz mw%ﬂﬁﬁﬂ?!?

(b) State two lumtatlons of .the IS-LM
: model '

IS-LM W@IWWWI .

' ‘(c) What is[soci,a& cost of inflation ?
(d) Distinguish betWeen-ﬁXed exchange rate
and flexible exchange rate. ‘

| ﬁaﬁﬁwmmmﬁaﬁﬁmwm;
_m@mml

o (e) Dlstmgulsh between induced mvestment
and autonomous investment.

mﬁﬁmmw@aﬁmﬁaw»m
fertl
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Answer any four of the followmg questlons

5x4=20

wﬁmwﬁmwﬁﬁawm

@

(b)

@

Explam the national income identity

: usmg circular flow of i mcome in a three-

sector economy.

fofb-veTe weRifve wiE s 2T TR |

wﬁm@awﬁwmﬁl

How is the LM curve affected by the -
change in the supply of money 9_
Explain with a dlagram

:{zﬁmenaaonﬁa-ﬂa 7Rl LM (SRioie R
oolffs =0 ¢ Bow wme R F

What is margingl-,efﬁciency of capital ?
State the determinants of marginal -

- efficiency of capital.

WWWW%?@WW_

’WﬁWWWI

Explain the trade-off between inflation
and unernployment '

Wmﬁww mwﬁasmw
11
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@

Explain ‘the cost- push theOry of
inflation. -

'@nﬁﬁazwmﬁ%sagwﬁﬁsvmﬁﬂawmtamn

" Briefly explain the arguments in favour

of flexible exchange rate system.

'amﬁkﬁ%ﬁwaiﬁamﬁwaﬂﬁv$Q¢F¥%5@§Bﬁ?$ j

TrE

4. Answer the following questions : ‘10><4=40;.
. wete fral erpTes Tl fuml ¢ |

(@)

Discuss the determination of
equilibrium rate of interest and level of
income with the help of IS-LM curve

. analysis

" IS-LM G%ﬁi%&ﬁﬁﬁ'ﬂiﬁﬁiEW@WNI?E?'QH
. GW%ﬁWVWWWWRRTﬁm@#!W@WFNHEH '

Or/ W

Discuss how income and the interest

rate are affected by an .increase in’

government spending and an increase
in taxes, using the IS-LM curve model.
o ' 5+5=10
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)

(c)

st TH g O 9 IR TS T R
oI T [ USRS 2, IS-LM (Rifoe

FRYTS N0 F1

'E_X,plain ‘the nature’ of demand-pull

inflation. What measures would you

‘ suggest to” control such inflation ?

5+5= 10 '

sf'r”imwﬁ@ qmﬁfw ofS g = aﬁ
:{m@ﬁﬁﬂwm—ﬁ%mwm9

Or/ qdl

DlSCL’lSS the effects of 1nﬂat10n on '

production and dlstrlbutlon 5+5-10

W%Qﬁmmﬁ"éﬁ?@m%

SRR SIS 3 |

Explain Mundell- Fleming model with

flexible exchange rates.

mﬁﬁﬂﬁﬁﬂﬂmtﬂrqmﬁ-eﬁﬁ\ﬁﬁmm
31 '
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| or/ w3ar '
Discuss the derivation ‘of the IS ‘curve
from the goods market in an open -
economy with suitable diagram.

& RIS TR TR IS @0 GEWE
w«rwmmwwu

(d) - What is meant by investment functlon ?
" Discuss the factors which affect the
level of investment. = . 2+8=10

ﬁﬁmﬁwiﬁmﬁsm?ﬁﬁmﬂaw |
'a@mcm%mwmwwn
Or/WVHI‘

- Explain Keyne51an theory of demand
for money. Write how it is superior to
the tradltlonal quantity theory of
money. . ) 7+3=10

mwmww&mwmwwn
"ﬁ“’@ﬂ“m”fﬁmﬁmim‘ﬁo‘aﬁ
T%iml
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